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. Test #Pb - 13 thru Chapter 3.3
/ Beginning Algebra
0% - Fall 2009

Instructions: Pur your name on your paper before you begin. You may not use a calculator on
this test. All work must be shown in order to receive all points for all questions. If you use exira
paper to show work, please tell me where to find additional work each time that you use it and
label your work clearly so that I may easily find it! Please box your final answer. Any answer
that is a fraction must be in lowest terms and as mixed number for full credit. Staple your note
card ta the back of your test. Good fuck!

1. Change each of the following integer subtraction problems to addition. Do not
add or simplify in any way besides changing to addition.
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Use <, > or = to compare the following. Show alt work to get one number to compare to
another!
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5. Evaluate usmg order of oper; E&Q{% show all work; each step in grder of op )
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Simplify the following expression. Don’t solve. Show all work

3(5x 7 2) — 4(x + 1)
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Show the exact translation to an polynomial subtraction problem (don’t simplify
while translating). After it is translated, then simplify.
o

Subtract 2.1x + S from 4x — 2.1

—a @x 2\)" (205 + =) = Y- 2\_21
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8. Clear the following equation of fractions. Don’t solve if g
Yax + Ys = s(tle — 6%) e
T — _“Lm
+,~ A0 £x+—2—‘:-‘lgf‘__2x LeD= ‘233‘5 ={y
W (’)M ; / éi,»;.v’éfa )’(4‘“‘{, (;éc’oébt‘ z
~ oo+ 36 = 5~ 150x Lo it Dt
9. Graph and give the interval notation for follomng liflear mequahtles j
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Solve the followmg
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2(x—5)—~x~3x—2(x+5)
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For all the parts you must show setup, an equation that could be used to solve the
problem (using algebra) and for one and only one you must solve (showing alt the work)

the-equation-that you created( Solve onI% one of the following parts.

Jose is five years younger than Sean. he sum of their ages is 23. Find Jose’s

. . Solved
3 o T Sean -5 = x~5 A = \ == Z Fues
- o Jn\ﬂ"'l A 2&_.. i:)..- 23 R - ’5«’
Sean™ X 4 oy e R T
! . .ﬁd(_ l;? t________________.: 3
Sum = ke r Sean = 23 wi A2x = :
(X-8)x % =23 peph * =
One number is 9 more than another number. If their sum 1s 25, find the larger
number. H c _ Sowed
one = another + “=raf L x+ Q=129
andther= x +% S

839
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S = oNe ronother: 25 \{‘ZX ! z ‘m\-_ 1Hus \ougef _
( A =25 1y x=

A college graduating class is made up of 450 students. There are 206 fewer boys e

than girls. How many boys in the class? L6 \\Jed > EB

_ =30% 10k
bo\ig = %\r\g—?.oto = X~206"4 \ Qx; 206 = 4?% JS——\
Wis= X ~4 o K 200> 2&_}9‘(’} :\(72 b°jf>
\as.s:bmpi-gix\s* L\;g‘a{)()_f L 22X % = 29% =
A 22 foot pipe%%r?cart&(o pflelé‘es. The short piece is 8 feet shorter than the
longer piece. What is the length of the short piece?

Shory = \o\r\s-—% =R~ 1% — S\ E,C\.

ong = x  ~u 2)&-‘;§ 3%22

LW = Shov v #—\\)Y\SZ: 22 O = 303
(X*?)YX = 2'1". z X‘:\5

Solve only ong of the following problems. You must show setup, an
equation/expression that you will use to solve (showing all the work) the problem.
A “Going-Out-Of-Business” sale advertised a 75% discount on all merchandise.
Find the discount and sale price of an item originally priced at $130.

At the beginning of a chemistry experiment, the temperature was -5°C. What
was the liquid’s temperature at the end of the experiment if it fell 14°C?

A local restaurant reported net incomes of -$1397, -$2022 and $809 for the past
threg months. What was its average net income for the three months?

@ Or;"}‘:: R0 Ak IZ“P +1 @ .Tem? - @ 1z - 3297

17¢= -372072

Bz - 0
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13.  Label the Rectangular Coordinate System with the following elements:
i) origir} (use the correct ordered pair)

7
+1b) four quadrants ¢

+1¢) thex & y axes
+2d) up to positive and negative 5 (by ones) on both axes (assume cach line is 1 unit)
+) ¢} the following ordered pairs: (5,-1);(-3,2); (4,1} ; (-1,-2)

ri4 f) _the three points shown on the axes with the correct ordered pairs
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14, For the given linear equation complete the table.

2% + 4y = §
: y fe JLL,LZ thocle ¥ 0ol * ’if_f_f ./"'
_3;5 G,y,. 2-8YrYy =8 = .14 :__24.;1 ___-?) ‘_:E’,/
o v 20 ‘ 2x+4(cT =8 __.__s>ilz ""?Zf.ﬁ?)x,;th
0 ” IR

20) rHy= & = L 4&'“8'75" ;“.Efa

Each of the following problems are mulitiple choice. They are ali worth 4 points. If you show no work,
they are either correct or incorrect. You may circle only one answer or you will not receive any credit at
all. If you show work, partial credit will be assigned even if you do not circle an answer (maybe you don’t think
the correet answer is there) or your circied answer is incorrect.

< e werks, ihewn o Leasi?

15. Subtract: f'5 — 2/ (Circle the best answer. Circle only one} . ; _
5 o _ ?—
' a) -/ \ B - ) -'s & hs s 8 (5
Subteacked numbdensm  Torgpd fobdldhugher  Jugh misved sign
' W oy ) " 3
wrk shown +if "1_&"« worlk Shown 3.8 waork shown
16. Simplify: -2 -5+ 10 (Circle the bestanswer. Circleonlyone) 5, ¢ 410
a) 13 by 13 tc) 3 l H 7 - —3410=3
AAded 10+5 bsubbaded L Added 045 123
Lo Sulgh. Zbu\'ww!:—‘)lff\ Ad\g MEPETS :
* § b werk shown RVANY W\LQNW'\ Subt.
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17.  Multiply: -0.4)0.5 (Circle the best answer. Circle only one.)
a) 0.2 b) -0.2 c) 0.02 d) -0.02
"i"ﬂﬁ - 3 ;_52— + 1 |
18, Divide and simplify: o = (-*/3)  (Circle the best answer. Circle only one.) 4 - -
\a) Y, by Y ¢) -4 -1 v, 2 4
2 1 41
19. Subtract: 6 — (-3) —i 43 ="{u-3) (Circle the best answer. Circle only one.)
a) -3 b) 3 ) -9 d) 9
. .. e :q#
20, Simplify: 6 ~ |- — 2 [~Y-2:2-2 (Circle the best answer. Circle only one.)
a) 8 b) 0 ¢) 12 d) -4
# ! -y
21 Simplify: 30 + 3«2 :égtb:}_b (Circle the best answer. Circle only one.) RlLE i w
10 + 3 3 R 2%N 3~ =T
Y S
a) 5 Y4 b) 21, c) 2%, d) 5 R
+7
a g “a . _ .
23. Solve: 7/ fox =36 K OX= §1 {Circle the best answer one.)
a) x=35% b)) x=16 ¢) x=29 \d) x = 81
- A -
: ) _ 1.0 = . .
24 Solve: Y x = -/ 3 /ég (Circle the best answer. Circle only one)
V) x = -'hg \ ) x=Y% ¢ x=-1% d x=-8
‘_-________________.- . ‘\_} J!,! ‘r )
25. Solve: __}a?x ———_}gx 6"'..\;_“'5&“-'(9’.;5"(Circle the best answer. Circle only one.) X =2
a) x =1 ‘\b') xzzk ) x=-1 d x=-2
25. Salveforb: x =3a + 2b + ¢ _ {Circle the best answer. Circle only one.)
a) b= X o b) b= _x-3a~¢
3a+c-2 © 2
<) b=x-3ac - 2 4 d) b=x-3a-¢c-2 n
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